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1. Cash Flow Valuation:10%
A 3-year project Y is expected to generate $100 for each of the next three years. The
project’s beta is 0.8, the market risk premium is 7.5%, and the risk-free interest rate is

2%.

(1) What is the project Y’s present value? (4%) = ( )
(2) What are the certainty-equivalent cash flows for the three years respectively?

(6%)> Year I(  ); Year2: ( ; Year 3: ( )

2. CAPM (& F#4; T for True and X for False) : 20%

(1) An investor’s efficient frontier is a straight line if a risk free asset is in his
investment opportunity set.

(2) The existence of Capital Market Line (CML) in an economy indicates that the
investors in this economy have heterogeneous expectations.

(3)The existence of Capital Market Line (CML) in an economy indicates that the
investors in this economy have the same investment opportunity set.

(4)The existence of Capital Market Line (CML) in an economy indicates that the
investors in this economy have the same risk preference.

(5)The Capital Market Line (CML) indicates that the risk premium for an asset is
proportional to the unique risk of the asset.

(6)The Security Market Line (SML) in an economy indicates that the investors in this
economy have homogeneous expectations. '

(7)The Security Market Line (SML) in an economy indicates that the investors in this
economy have the same risk preference.

(8)The Security Market Line (SML) indicates that the risk premium for an asset is
proportional to the systematic risk of the asset.

(9)The Capital Market Line (CML) indicates that all investors in this economy invest
only in the risky market portfolio. |

(10)The Security Market Line (SML) indicates that all investors in this economy
invest in a combination of the risky market portfolio and the risk free asset.
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3. APT (£ JEA&; T for True and X for False) :10%

(1) Both CAPM and APT assume that an economy have several systematic factors,

(2) Both CAPM and APT assume that only expected shocks in the systematic factor(s)

need to be compensated for investors.

(3) APT assumes that only unexpected shocks in the unsystematic risk need to be
compensated for investors,

(4)The systematic risk factors in the APT are uncorrelated to each other.

(5)Both CAPM and APT define that an asset’s sensitivity to a specific systematic
factor is the factor beta of the asset.

4. Binomial Option Pricing Model (10%)

If the payoff of an asset one year later has two possible outcomes, 50% chance $130
and 50% chance $90. If the asset’s required rate of return is 10%, the risk free rate is 4%,
and the investor has an option to sell this asset at $110 one year later, please answer the

following questions?

(1) What is the present value of the asset if the investor does not have the option?

(5%)
(2) What is the present value of the asset if the investor “has” the option? (5%)
R \ N ) - _(+r)-d
(Hint: the risk neutral probability for.asset going up is P = T u—d . whereuis

the magnitude for asset value going up and d is the magnitude for asset value going

down; 7ris the risk free rate)
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HATH B G BB 20 T AR AR 4% T 2 #3054 7 E (incremental
cash flow) ?

FREHWTERP X ALRZITARPEER -
REHANANBRER - BRSNS RN EE -
M REARHFLZY -

NEAMAEME LI RABRMNEE -

FIHTH % RERB-METRZIFRM BB TROBLER?

LAHEERE BETEMEL BZB/BZHEA -
AFREERZESI L GEaLHBESEm -
PRAIRAABZELRE -
BRARAEERZERI B LA A IRITE L -

FTHAMEEMATE  THRIEE ?

BT A AAZ A TR ARSI L2 A SRR R ELRA -
AAGBHFERA TSR » LTAAATRM T 2 MARL(-SBRE) -
DARETERET N T AT AR B X (CAPMFSE 775 -
SEFLAATS  AAZHERTH XA A RANBAM L RBRET T -

FTRAAMEERETZHE  TEHR?

WESEEABRMASETE > RAAT LY -

ARG HOLHH > wEOLAUREREBARE  ARTERBFLLETA -

i F A, 3L 4 B (start-up) o B B S 8] 0 G RA A KRR BAT A A BITRHEEE -
B8 F 4 (Venture Capita)iZ F #f @ H A AR s 3N T -
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DRERIMY > ARkER  AFERBRH  FETRA BhAEAATAMK
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7. EFERMEILTE > T 21H & TR H(pecking order theory) 4k ifi {7 £ E5% ?

ALIE-§ gt 2 Rak & 3 f k3

a.

b. E&mARaNT  BLEAS -

c. MANFBERYGEH UABREFZE -

d 2DIAXRETRYRETL UELREHRRAREZHF -
8. LATFAH MARAEC R 475 REFE?

a. MEAIEMORE A ERARAKREBZA -

b, MAMEXRLELCKGEKEIRRARE » MBIFMAERE -
FEFREEH ERBEAFN A TR EEA TR TATRBSTERHKEZLZ2E > G
BEABECEBYHRT -

d. A B R4L M EE R (free cash flow hypothesis) E R A A B G B4R R L Z 48] 3w
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9. —FZAAFAMERS FAFKEATILARE (RERBEZH ABAE) it
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FAMERALEDEHAR BB FRETHRE » 8o Mu -
BOBEBMAE  THANLIRLHEMRRERE BB ARRBEERRLE
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10. F#AMAMHAMMFESHTEMAME  (TERERE?

a.  BEHFELE AL T (target firms) A R AL B E S T B AT F B o
A8 B AR M43 2] 2 5) 428 HE 0 £ 484 2] (acquiring firm)» B & ALE TR & AR L35
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AR FE—FREREE  BOFE - AXNTEAANAXFTEEA —FHE » 248
R —F R EEFARATE -

—FRAETH

o

ANEEEBHAZ AN AA — 414 %) @ 3710048 2 Bk 4% # (discount bond) [3£ © BEI
e H A RS BAT > BPRA LTt F > WwEELR] -

At B EETTIFE  BEAFHEA ARZE AN A B T 21 (risk-neutral) »
BRBMERRS AAHE - FLERRFF5%

P

(A) A% 8) R 42 2 4 47 i (Enterprise value)? (557
(B) A A BE LR FRA AT 52)

(C) A B B R Ak ARAEZRMME? 57)

2.
XNezREERR T AARRESFHE & R4 M E(free cash flow)dn F :

2012(4J&) | 2013(F &) | 2014(4F /&) | 2015(45 &) | 2016(3F-K)
B &3R4 %8 200 4% 223 {& 240 1% 249 {& 262 1%

BRX N2 AHRSMEAL 2016 F24 0 ZA%RMARERK » LB K& -

8 AT B BT Z B AR IR AAA R 5 4% » TR A 27 5 B 4 B (market risk
premium) % 6% o X 28 Z 4 4B M(beta) B 1.2 B X A RB2EEASLEFAEE 8
BEHEEARFHEER - X DA ZHBREH20% - X 22 BERMEE 8 /(&
i + MERAHMH))EH 40% -

w4 B

(A) RPIXA 3 ZWACCET? (59°)

(B) |PIXA 3] £2016% K 2 44 4f {(Terminal Value)? (557)

(C) RAXA 53R A20124547) =4 #4% M (Enterprise value)? (54+)
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